BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREKXEIRAO)
UNBEEFHFS) SHM3FIA1H
R s | A0 Oisk 7% 21k 3k 4% 57k
5 % g8 % £ = L = g8 x L ©

ENY = 1TH 1,938 | 4,098 12 15 11 19 15 19 21 16 21 17 24 21
ENY = 2TH 774 1,648 5 8 3 3 5 7 8 7 10 5 5 7
H/IMNE 3TH 1,418 | 2,746 8 5 12 6 10 6 9 7 16 7 8 10
EVINY = 4TH 1,788 3,517 9 7 19 9 12 15 11 13 12 17 11 16
HINE 5TH 2,105 | 3,748 8 8 18 17 14 12 12 15 15 12 17 10
H/IMNE 6TH 1,820 | 3,248 7 5 11 9 10 16 6 7 14 5 7 9
mINE 1TH 3214 | 5425 25 11 22 15 23 12 13 13 16 25 24 11
mINE 2TH 1295 | 2174 8 9 3 6 12 7 7 3 6 7 7 9
m/IhNE 3TH 2885 | 5223 12 14 23 15 12 16 17 15 19 15 12 9
mINE 4TH 1,786 | 3,245 8 10 11 6 6 5 8 11 10 9 9 11
/NG 5TH 2,170 | 3,824 14 10 9 12 12 15 16 12 7 9 13 12
m/INE 1TH 1,021 2,156 7 9 6 5 10 10 7 4 6 5 10 8
mE/NhNE 2TH 1,717 | 3,435 7 1 4 6 7 7 7 8 8 6 13 7
m/NhNE 3TH 1,766 | 3,380 8 10 16 4 24 8 15 12 13 14 15 7
mE/NhNE 4TH 1,623 | 3,242 8 8 11 8 9 7 9 9 10 5 16 16
m/NhNE 5TH 2,022 | 3,809 9 11 12 11 20 14 18 10 15 14 12 11
mE/NhNE 6TH 2,425 | 3,998 9 9 8 13 12 6 15 11 6 9 11 9
mE/NhNE 7TH 3,267 | 5,549 20 16 16 13 22 11 16 18 13 26 25 11
m/NhNE 8TH 2,110 | 3,569 12 10 19 16 18 10 22 9 8 8 13 14
d/hE 1TH 1,291 2,256 6 3 9 4 8 7 8 7 6 6 12 5
d/hE 2TH 2,901 5,346 16 11 16 22 15 20 19 20 28 20 15 15
d/hE 3TH 1,365 | 2,538 13 6 11 5 9 15 11 3 10 9 13 13
d/hE 4TH 2,307 | 4,500 10 12 24 19 26 25 13 17 21 28 20 17
d/hE 5TH 1,758 | 3,031 10 8 5 7 9 4 11 15 1 11 8 9
d/hE 6TH 2,503 | 4,602 15 7 14 11 14 9 15 15 24 23 24 12
d/hE 7TH 1,499 | 3,260 13 19 19 12 18 13 18 12 18 16 12 21
dt/ha 8TH 1677 | 3,708 12 16 6 15 16 17 20 17 14 14 11 15
&5 52,445 | 97275 291 258 338 288 368 313 352 306 347 342 367 315
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SHM3F9A1H
R 6% 5% 8% 9% 107% 115% 125% 135% 145% 155%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 12 19 17 23 16 24 18 17 20 15 21 25 24 11 20 25 22 18 20 21
ENY= 2TH 9 4 5 7 8 3 7 9 2 2 5 8 11 10 4 7 11 9 9 6
ENY= 3TH 11 15 9 10 15 10 9 14 8 9 11 9 23 10 10 14 13 1 9 14
HINE 4TH 21 14 15 20 12 19 18 15 13 18 9 12 11 18 15 11 12 10 7 11
EXINY = 5TH 10 10 13 13 18 11 15 7 16 8 8 12 11 9 7 11 6 14 11 10
ENY= 6TH 15 11 11 9 5 19 7 12 14 6 17 13 9 11 10 14 10 15 10 9
NG 1TH 12 18 18 16 13 14 20 14 16 19 22 16 23 13 25 12 20 11 20 13
mINE 2TH 3 7 6 7 11 2 10 3 5 3 7 10 5 12 8 5 7 3 3 7
NG 3TH 18 14 13 16 15 17 15 11 14 19 17 20 20 22 17 21 19 25 19 17
NG 4TH 7 10 6 8 6 17 17 10 8 10 6 9 4 12 13 14 14 10 10 7
NG 5TH 17 8 10 12 9 10 11 6 17 13 17 4 16 16 14 22 17 17 15 17
mE/INE 1TH 7 4 10 9 6 7 10 8 13 9 12 4 9 13 9 12 12 9 7 13
mE/NhNE 2TH 14 14 13 7 8 8 4 13 17 9 14 14 10 16 14 17 15 16 19 16
m/NhNE 3TH 16 13 8 12 16 13 17 15 14 21 14 12 16 10 18 9 17 8 16 12
mE/hNE ATH 11 8 13 17 15 21 13 17 12 10 14 17 17 23 12 17 17 8 9 12
mE/NhNE 5TH 26 10 9 10 10 14 17 14 6 16 21 8 15 9 10 18 12 10 16 14
mE/hNE 6TH 12 8 10 12 13 13 9 9 12 10 11 9 7 9 9 6 7 13 6 6
m/hNE 7TH 17 25 17 14 16 21 11 14 17 15 16 12 17 13 15 9 10 13 15 18
m/hNE 8TH 11 15 18 10 6 9 13 8 6 9 4 6 13 7 6 6 11 2 10 8
d/hE 1TH 9 8 9 9 6 6 6 7 8 7 14 11 8 5 8 13 8 6 6 8
d/hE 2TH 28 23 20 15 32 14 17 10 21 20 22 17 16 19 23 27 23 10 16 17
d/hE 3TH 4 6 15 5 9 5 6 7 7 8 11 10 8 9 5 10 11 5 8 10
d/hE ATH 17 12 26 15 19 15 21 14 20 12 14 23 18 15 26 18 24 13 17 19
d/hE 5TH 12 7 8 11 9 6 15 12 8 11 6 12 7 10 11 7 5 13 12 8
d/hE 6TH 18 17 14 13 15 18 15 18 17 20 12 12 22 10 14 16 26 14 14 8
d/hE 7TH 10 17 16 13 21 15 13 12 18 13 12 8 12 12 17 18 14 26 11 16
dt/ha 8TH 17 21 16 17 23 17 22 18 18 22 12 29 17 21 12 22 19 20 12 27
=X 364 338 345 330 352 348 356 314 347 334 349 342 369 345 352 381 382 329 327 344 \
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SHM3F9A1H
G 167% 177% 187% 197% 207% 215% 225% 23i% 247% 255%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 22 19 17 21 24 29 17 24 29 19 22 15 27 27 21 17 27 24 23 31
ENY= 2TH 5 9 6 11 10 7 8 7 15 12 8 9 8 12 9 17 6 7 12 6
ENY= 3TH 5 8 10 14 14 14 14 10 11 15 22 12 16 11 13 22 23 20 16 24
XN = 4TH 17 11 16 8 19 13 12 15 18 26 14 22 18 28 29 24 19 31 14 15
HINE 5TH 7 16 12 15 8 17 12 13 17 24 15 18 27 23 22 28 38 32 21 28
HINE 6TH 10 4 13 13 22 14 13 15 20 17 15 21 22 33 21 15 27 25 29 19
NG 1TH 20 15 15 21 14 12 20 31 33 28 21 29 31 25 49 45 39 43 43 36
NG 2TH 5 7 4 1 9 7 9 5 5 8 11 15 11 21 17 22 15 13 18 10
m/IhNE 3TH 17 17 21 22 20 19 20 22 16 27 43 27 24 36 38 26 39 43 48 39
N = 4TH 15 13 8 14 12 10 19 14 22 17 20 17 20 17 32 22 28 27 24 23
NG 5TH 20 26 16 18 14 12 21 19 24 22 23 25 30 13 33 28 32 23 30 28
m/hNE 1TH 12 11 6 16 11 11 14 15 11 15 10 12 14 9 16 15 11 13 10 13
mE/NhNE 2TH 16 14 22 24 9 17 22 15 15 24 18 17 27 18 17 21 22 30 17 15
m/NhNE 3TH 16 15 16 14 15 15 18 7 14 12 16 9 19 20 30 20 32 16 27 30
mE/hNE ATH 18 15 15 9 16 15 15 14 23 14 22 9 17 13 16 19 22 16 19 21
mE/NhNE 5TH 15 13 12 14 14 18 18 18 24 16 21 19 25 19 28 21 31 24 29 24
mE/hNE 6TH 10 9 8 7 8 18 17 17 10 13 21 24 26 21 31 31 32 36 28 30
m/hNE 7TH 16 13 10 13 20 18 21 22 25 32 32 31 35 42 38 37 44 46 31 48
m/hNE 8TH 5 14 6 11 11 12 8 8 16 16 21 26 26 29 35 24 31 28 30 32
d/hE 1TH 4 8 3 8 6 14 8 8 9 6 12 14 15 4 13 16 15 22 16 16
d/hE 2TH 20 23 21 25 17 27 29 20 21 33 22 34 40 32 33 28 48 29 39 36
d/hE 3TH 7 6 10 10 8 11 17 12 11 13 23 16 14 20 20 28 25 29 28 21
d/hE ATH 18 16 22 18 23 25 17 15 24 17 24 17 27 26 36 29 30 34 38 18
d/hE 5TH 10 7 12 9 8 9 15 15 14 13 7 14 13 14 27 20 24 32 31 24
d/hE 6TH 15 19 12 19 11 13 23 22 18 23 28 23 32 30 29 33 47 38 29 33
d/hE 7TH 16 22 17 13 11 12 20 19 19 15 24 17 16 16 21 21 12 22 17 28
dt/ha 8TH 23 25 20 11 37 18 24 13 25 21 15 21 13 21 21 17 20 19 19 22
&5 364 375 350 379 391 407 451 415 489 498 530 513 593 580 695 646 739 722 686 670 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SHM3F9A1H
R 267% 27i% 287% 297% 307% 315% 325% 33i% 3475 35i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 24 20 23 22 23 26 29 19 23 27 32 35 17 18 23 25 35 26 28 20
ENY= 2TH 9 4 12 11 9 10 7 6 8 7 4 11 7 7 9 5 16 5 7 12
ENY= 3TH 24 19 13 18 20 11 12 10 15 26 13 12 23 16 19 14 13 12 15 26
HINE 4TH 20 27 20 25 22 25 18 23 23 18 13 22 30 15 25 20 20 24 22 32
EXINY = 5TH 37 33 27 17 31 31 36 36 20 31 31 18 26 32 27 25 36 23 19 27
HINE 6TH 23 30 27 24 26 12 27 20 19 26 17 26 28 12 17 17 18 18 27 19
NG 1TH 44 37 51 55 46 42 38 43 45 36 46 34 41 30 33 40 36 31 50 49
NG 2TH 25 24 18 19 23 13 15 18 20 17 23 14 21 16 24 15 14 12 18 15
m/INE 3TH 28 45 33 44 53 34 40 34 38 39 43 34 31 34 37 30 36 40 37 45
NG 4TH 29 22 25 21 27 21 29 21 24 23 28 15 23 28 23 16 25 13 21 23
NG 5TH 30 30 30 33 36 17 36 26 36 33 23 21 32 37 33 31 34 28 33 32
m/hNE 1TH 13 11 11 12 13 13 12 10 9 6 13 14 10 8 12 7 11 7 9 11
mE/NhNE 2TH 18 13 14 16 16 15 22 18 14 10 8 16 19 14 18 9 16 17 22 21
m/NhNE 3TH 19 30 25 15 17 21 25 11 20 22 28 17 18 13 15 19 16 15 19 19
mE/hNE ATH 18 12 21 14 16 16 18 16 21 18 14 11 17 18 17 23 17 12 17 15
mE/NhNE 5TH 28 15 38 22 24 18 25 18 17 20 19 18 31 27 22 24 35 24 23 23
mE/hNE 6TH 34 33 43 38 26 31 39 31 39 32 30 37 36 24 36 26 30 26 38 26
m/hNE 7TH 55 40 58 47 35 36 44 36 41 47 46 37 41 40 33 41 40 29 33 32
m/hNE 8TH 43 31 37 30 31 30 31 38 34 31 29 19 24 23 23 25 31 21 31 25
d/hE 1TH 15 15 19 21 13 19 25 14 17 19 18 17 16 15 19 13 19 21 12 16
d/hE 2TH 41 35 40 33 38 41 33 28 28 40 25 31 40 32 24 37 29 29 33 26
d/hE 3TH 20 23 19 22 23 17 24 17 24 14 9 21 19 18 19 17 18 18 21 10
d/hE ATH 35 34 37 32 28 26 29 26 31 27 46 26 27 23 35 22 31 33 42 28
d/hE 5TH 22 25 32 14 31 24 22 16 20 16 15 24 28 19 28 21 28 20 17 12
d/hE 6TH 34 33 29 29 27 26 30 21 27 36 39 33 31 28 31 30 39 41 21 37
d/hE 7TH 20 20 23 22 27 18 24 21 20 20 16 22 19 15 29 21 18 31 28 13
dt/ha 8TH 11 20 13 20 20 17 24 17 22 14 22 10 15 21 26 17 14 14 17 20
&5 719 681 738 676 701 610 714 594 655 655 650 595 670 583 657 590 675 590 660 634 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SHM3F9A1H
G 367 375 38 395% 407% A% 425% 435% 447 457%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 36 17 26 24 29 26 21 30 30 23 22 21 29 40 25 27 34 29 34 29
HING 2TH 12 5 7 9 11 10 6 8 10 2 5 6 8 10 18 8 14 13 15 14
ENY= 3TH 16 15 22 9 22 20 14 13 14 17 11 13 16 19 24 24 21 19 20 17
HINE 4TH 24 20 23 26 39 29 31 29 23 22 17 18 32 25 28 19 12 23 27 26
EXINY = 5TH 30 30 30 27 30 25 24 33 27 18 36 14 29 21 34 24 28 28 33 29
ENY= 6TH 24 19 20 9 22 20 20 19 30 13 24 17 18 21 21 22 26 19 30 27
NG 1TH 46 31 47 44 37 41 45 39 43 35 37 28 31 38 45 45 44 37 45 53
NG 2TH 16 10 16 15 15 23 12 18 19 12 18 12 19 13 24 16 13 21 17 13
m/IhNE 3TH 29 37 49 36 33 39 29 31 42 39 31 30 30 34 34 25 39 33 36 35
NG 4TH 13 12 31 23 18 15 14 14 21 16 21 35 35 15 20 18 12 22 33 25
m/INE 5TH 27 19 20 19 26 21 19 25 30 27 22 24 18 28 23 23 25 25 33 27
m/INE 1TH 12 18 16 22 11 7 16 11 10 10 15 9 12 9 16 15 14 15 15 11
mE/NhNE 2TH 17 15 22 11 16 11 16 8 16 13 20 18 18 14 28 24 15 17 21 19
m/NhNE 3TH 23 18 21 18 21 28 22 23 23 19 18 32 25 27 27 15 24 24 27 28
mE/hNE ATH 23 22 13 15 20 10 18 23 23 20 25 17 18 16 24 25 25 32 28 22
mE/NhNE 5TH 30 26 19 34 23 22 23 29 22 20 31 16 29 28 19 25 24 15 39 21
mE/hNE 6TH 37 22 22 21 23 28 22 18 22 26 26 20 24 15 33 19 34 25 29 22
m/hNE 7TH 37 40 51 31 42 38 45 30 47 35 44 30 31 38 44 28 35 41 52 32
m/hNE 8TH 34 24 32 19 31 33 29 27 23 18 27 23 26 25 28 26 24 26 34 29
d/hE 1TH 15 9 17 9 16 21 13 14 16 16 23 22 19 18 16 17 19 10 16 11
d/hE 2TH 36 36 44 38 37 41 37 30 29 29 39 33 42 26 33 44 47 29 42 40
d/hE 3TH 15 20 12 24 24 10 11 16 22 7 17 22 9 11 19 20 21 14 21 13
d/hE ATH 34 27 27 28 28 28 31 32 32 17 32 28 36 25 29 32 26 29 30 32
d/hE 5TH 23 11 20 17 21 23 14 13 21 22 14 15 26 15 20 15 31 31 33 19
d/hE 6TH 27 33 34 30 28 37 47 23 32 30 33 23 30 34 38 30 30 32 33 31
d/hE 7TH 19 21 20 15 17 19 28 14 25 14 19 31 23 19 31 17 24 24 13 20
dt/ha 8TH 20 21 24 24 16 23 27 27 13 24 29 34 34 29 24 21 28 31 26 28
=1 675 578 685 597 656 648 634 597 665 544 656 591 667 613 725 624 689 664 782 673 |

5/12 R—



BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNEEFS) SHM3F9A1H
R 467% 475% 487% 497i% 507% 517% 527% 537% 547% 557%
5 x 5 % 5 % 5 = 5 = 5 = 5 % 5 X 5 = 5 g

QY= 1TH 32 31 49 44 33 32 46 27 37 32 33 34 30 29 34 21 34 25 24 20
ENY= 2TH 22 13 10 15 21 19 21 19 11 15 12 13 11 13 19 17 17 11 14 9
HINE 3TH 23 25 21 24 24 24 33 20 32 21 23 24 23 18 21 17 26 21 22 14
Y= 4TH 21 19 20 28 24 21 29 32 32 22 28 25 24 18 22 22 16 26 25 24
HINE 5TH 27 28 22 24 32 25 21 19 32 24 30 25 26 29 30 22 18 24 29 22
HINE 6TH 21 26 26 23 27 30 27 22 23 21 23 18 32 25 30 32 15 23 23 24
mINg 1TH 41 54 52 42 53 41 46 44 50 53 52 41 45 46 42 43 31 32 29 31
m/Ng 2TH 15 14 23 17 25 23 19 24 22 7 27 19 19 18 15 12 15 13 17 12
NG 3TH 37 48 30 37 49 43 53 45 35 33 56 40 36 34 33 37 46 41 40 44
mIhNg 4TH 24 20 18 26 28 21 30 29 27 29 27 34 27 31 30 23 30 28 28 18
NG 5TH 33 26 34 37 33 24 35 42 35 38 28 32 38 34 40 32 31 25 32 29
m/hE 1TH 20 18 20 21 23 19 23 17 19 21 31 21 29 22 29 19 19 22 20 15
B S 2TH 31 26 38 42 38 35 31 42 27 34 35 27 32 29 23 23 31 28 25 20
B S 3TH 25 29 20 26 30 25 28 25 34 29 25 17 27 31 31 31 31 25 27 24
B ATH 28 30 25 29 38 25 31 24 30 24 32 23 27 13 34 22 22 32 13 18
B S 5TH 21 17 19 24 43 22 34 42 21 25 31 36 35 35 36 25 33 31 31 15
B 6TH 21 26 33 23 26 39 19 18 35 27 27 28 32 29 30 31 33 28 34 19
B S 7TH 52 29 56 41 47 39 45 57 55 51 55 41 46 38 42 46 45 46 32 29
B 8TH 34 29 34 25 32 36 35 34 26 21 33 27 24 28 28 27 23 23 15 21
d/hE 1TH 19 15 16 12 25 16 21 20 18 17 15 18 14 28 19 22 18 12 18 17
d/hE 2TH 40 36 36 41 48 49 46 43 44 52 47 36 36 35 43 29 53 55 29 34
d/hE 3TH 21 16 19 15 20 13 18 14 27 18 23 16 17 19 20 20 12 19 14 16
d/hE ATH 41 27 46 27 38 39 44 28 42 41 49 25 36 34 30 37 26 33 22 40
d/hE 5TH 25 23 22 19 22 25 25 20 22 24 31 12 26 19 16 19 19 24 14 15
d/hE 6TH 31 35 38 21 41 27 34 34 52 44 41 39 58 30 42 27 27 38 27 19
d/hE 7TH 22 21 31 22 34 29 29 26 29 28 30 22 24 14 15 25 27 19 22 22
dt/ha 8TH 35 26 28 33 36 45 32 26 43 31 28 37 43 31 25 26 29 23 23 26
=5 762 707 786 738 890 786 855 793 860 782 872 730 817 730 779 707 727 727 649 597
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SHM3F9A1H
7R 56% 575% 587% 597% 607% 617% 627% 63i% 647% 657%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 28 27 23 23 31 30 25 20 36 15 19 21 22 25 18 17 23 21 18 12
HING 2TH 13 10 9 14 14 6 10 7 12 6 13 6 7 10 10 10 9 13 9 7
ENY= 3TH 20 18 26 11 22 23 27 18 13 17 12 12 15 16 16 13 14 9 11 13
HINE 4TH 27 25 22 24 26 16 24 22 16 15 20 15 19 12 18 20 18 18 20 13
HINE 5TH 18 24 28 29 21 28 22 31 28 31 29 27 21 19 18 18 22 12 22 15
HINE 6TH 25 31 22 18 23 21 19 15 25 19 10 15 23 20 16 24 17 14 20 17
NG 1TH 42 39 45 43 40 31 26 35 31 33 26 29 32 22 28 20 29 20 31 22
LN = 2TH 12 15 19 11 15 12 10 12 13 11 7 12 13 13 7 5 10 8 11 15
m/IhNE 3TH 49 31 32 36 43 36 27 32 26 28 20 28 23 29 40 32 24 24 36 23
NG 4TH 29 21 26 20 25 16 23 21 13 13 21 25 19 18 16 19 22 14 22 15
NG 5TH 21 37 31 30 24 24 28 22 20 18 22 27 28 13 23 14 23 17 19 18
m/hNE 1TH 17 20 17 19 14 13 9 9 13 16 14 10 8 9 13 5 10 7 10 12
mE/NhNE 2TH 31 31 27 22 19 22 25 21 25 16 21 21 17 21 15 9 22 9 15 9
m/NhNE 3TH 31 22 27 20 22 17 38 19 18 25 17 21 22 12 20 16 19 12 21 18
mE/hNE ATH 28 24 23 25 25 21 24 16 27 13 14 16 15 19 22 22 19 14 20 15
mE/NhNE 5TH 22 33 36 24 23 41 25 25 30 24 37 22 20 28 20 23 22 17 23 24
mE/hNE 6TH 32 21 23 21 25 34 31 23 22 27 23 24 32 17 22 24 19 22 21 22
m/hNE 7TH 39 35 47 36 41 26 32 29 44 33 30 33 37 24 26 31 24 25 35 24
m/hNE 8TH 23 23 25 13 24 18 22 22 21 19 29 21 18 25 15 22 16 14 17 16
d/hE 1TH 17 6 19 12 11 21 9 14 15 10 12 14 7 15 17 18 15 10 19 16
d/hE 2TH 39 44 46 53 38 35 36 32 35 34 35 30 26 28 29 28 24 24 24 33
d/hE 3TH 19 16 17 9 28 19 17 9 10 16 9 10 14 7 11 14 15 10 9 20
d/hE ATH 30 26 24 34 39 35 31 17 17 21 32 29 25 19 23 17 28 17 22 20
d/hE 5TH 22 24 16 17 27 24 20 12 13 23 16 22 25 13 16 22 19 17 16 21
d/hE 6TH 32 20 24 30 26 25 31 22 34 34 24 21 29 22 31 27 29 22 27 29
d/hE 7TH 19 15 17 15 21 12 14 19 16 17 25 24 20 16 12 19 13 5 26 12
dt/ha 8TH 21 21 29 21 40 23 25 22 17 20 18 19 14 19 26 19 22 10 21 22
=1 706 659 700 630 707 629 630 546 590 554 555 554 551 491 528 508 527 405 545 483 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SHM3F9A1H
R 667% 677% 687% 697% 705% % 125% 135% 145% 15i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 21 21 14 21 17 20 24 17 20 30 25 24 25 25 29 22 18 31 11 14
ENY= 2TH 9 9 15 10 8 7 9 7 7 3 13 8 9 12 13 21 13 9 4 4
ENY= 3TH 11 9 21 13 12 9 13 4 19 16 17 22 18 22 17 20 11 14 15 15
HING 4TH 19 19 14 21 15 16 17 19 24 17 21 16 27 33 35 17 28 25 8 17
HINE 5TH 19 19 21 21 17 17 17 23 20 19 19 35 33 30 35 31 23 25 10 17
HINE 6TH 15 16 19 18 14 24 23 10 22 20 17 23 25 26 23 31 22 32 5 17
NG 1TH 25 34 24 23 29 22 33 31 35 33 18 42 32 37 43 28 32 36 23 22
NG 2TH 14 16 13 12 9 6 24 10 15 11 8 12 12 14 16 16 21 13 7 15
m/INE 3TH 23 33 32 23 30 27 29 26 42 36 49 24 32 45 33 35 21 37 12 23
NG 4TH 18 13 22 15 16 21 15 21 15 21 14 22 23 24 19 26 25 23 16 13
NG 5TH 19 23 16 15 18 20 24 17 21 19 23 17 31 21 23 30 20 24 15 15
m/hNE 1TH 13 11 6 10 12 9 14 7 11 12 15 11 11 15 15 8 7 11 7 12
mE/NhNE 2TH 12 12 11 18 23 29 10 13 28 24 21 23 25 30 27 39 29 39 19 20
m/NhNE 3TH 18 9 18 18 17 20 14 15 21 15 13 25 14 13 25 25 23 14 13 16
mE/hNE ATH 15 17 15 13 20 26 18 17 15 19 16 16 26 21 18 31 13 27 14 16
mE/NhNE 5TH 18 11 27 19 26 19 27 23 15 17 25 27 22 14 34 22 27 18 11 17
mE/hNE 6TH 30 18 24 26 28 18 25 30 20 30 31 32 41 28 39 32 23 37 17 19
m/hNE 7TH 15 15 18 30 19 34 24 28 38 27 33 42 37 54 35 40 37 44 22 21
m/hNE 8TH 21 13 23 17 23 11 13 21 24 19 17 18 24 20 24 19 17 28 12 16
d/hE 1TH 4 13 15 16 21 10 9 14 13 13 13 20 14 17 13 25 17 13 10 11
d/hE 2TH 32 33 21 33 30 29 26 35 42 34 39 48 50 31 36 35 36 36 15 24
d/hE 3TH 13 11 12 9 16 12 10 15 15 22 18 21 28 12 16 20 16 15 11 7
d/hE ATH 28 23 22 26 23 15 22 26 21 22 27 20 25 32 35 26 25 40 10 14
d/hE 5TH 14 24 15 9 21 16 19 17 17 19 16 21 28 21 25 28 31 25 14 19
d/hE 6TH 30 15 26 25 23 26 26 31 29 25 36 27 36 27 38 32 35 39 23 16
d/hE 7TH 17 22 17 12 14 16 13 20 14 14 16 20 26 12 25 24 15 25 17 10
dt/ha 8TH 18 22 22 12 25 15 11 17 21 18 16 23 22 27 32 22 14 26 12 13
=1 491 481 503 485 526 494 509 514 584 555 576 639 696 663 723 705 599 706 353 423 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SHM3F9A1H
R 767% 175% 787%% 797% 807% 81%% 827% 83i% 847% 85
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 11 20 14 21 22 25 17 19 18 28 12 20 19 14 14 17 8 14 13 22
RING 2TH 7 14 10 9 5 9 12 11 6 11 5 8 2 7 5 5 6 6 1 7
HINE 3TH 14 14 25 16 12 13 12 19 12 11 10 11 8 12 11 14 4 8 3 13
HING 4TH 14 16 18 25 16 19 17 22 16 25 9 15 13 17 9 20 14 19 10 17
EXINY = 5TH 11 13 22 21 11 27 16 15 18 16 15 17 11 13 7 17 8 15 13 20
ENY= 6TH 19 17 13 15 10 18 20 16 12 14 11 17 8 11 10 13 8 24 9 18
NG 1TH 19 25 25 31 21 22 13 29 16 39 18 26 18 20 6 10 12 17 10 32
NG 2TH 5 13 9 9 3 9 9 19 12 5 5 8 5 3 2 12 1 5 4 15
NG 3TH 34 28 22 29 9 19 21 27 20 24 13 25 9 18 17 34 16 22 9 18
NG 4TH 13 23 13 13 20 19 11 23 13 20 9 10 8 17 8 14 4 15 8 10
m/INE 5TH 8 15 17 11 16 17 12 19 11 15 8 14 9 13 8 7 9 15 6 12
mE/INE 1TH 6 7 9 17 11 11 8 15 11 11 6 8 8 15 12 11 11 16 7 8
mE/NhNE 2TH 14 22 18 21 14 37 18 36 18 27 15 24 14 26 17 26 13 27 10 35
m/NhNE 3TH 15 17 17 22 18 22 16 22 16 21 13 19 12 14 9 12 12 15 5 19
mE/hNE ATH 15 9 18 27 17 17 23 26 17 23 15 21 7 15 13 19 16 14 7 22
mE/NhNE 5TH 22 21 23 15 20 23 9 29 13 20 14 19 11 18 10 19 6 19 10 17
mE/hNE 6TH 22 34 27 32 20 20 16 17 16 27 8 24 13 13 9 16 13 23 16 17
m/hNE 7TH 22 31 38 36 30 43 25 36 20 31 16 24 19 31 19 27 15 29 22 29
m/hNE 8TH 15 25 16 17 12 23 16 18 18 5 12 12 7 20 5 16 6 8 9 6
d/hE 1TH 7 12 8 12 11 16 9 14 4 8 6 10 2 4 2 4 4 8 4 13
d/hE 2TH 24 29 23 30 20 19 16 31 16 28 14 33 7 19 16 24 15 21 15 25
d/hE 3TH 10 8 12 15 7 11 17 19 5 14 6 16 13 13 4 13 10 13 6 8
d/hE ATH 28 20 13 27 17 31 26 28 18 25 9 24 7 20 19 18 20 17 12 12
d/hE 5TH 13 4 16 17 14 17 13 15 12 17 16 15 7 11 3 15 4 14 13 18
d/hE 6TH 17 35 21 25 20 23 21 25 17 24 20 32 14 12 13 20 11 21 9 12
d/hE 7TH 9 13 18 22 6 11 18 18 17 16 9 14 10 19 10 14 7 19 5 11
dt/ha 8TH 16 19 15 17 11 22 20 23 12 15 21 21 15 19 13 13 13 16 8 22
&5 410 504 480 552 393 543 431 591 384 520 315 487 276 414 271 430 266 440 244 458 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SHM3F9A1H
R 867% 87 88i% 89i% 907% 9158 927 93 947% 955%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 10 12 9 17 5 5 6 11 2 7 0 8 3 4 0 7 1 2 2 1
ENY= 2TH 2 4 3 5 1 2 3 7 2 3 2 9 2 8 5 1 2 2 0 0
ENY= 3TH 9 13 7 13 4 6 6 4 5 7 2 10 1 5 2 3 0 6 4 3
HING 4TH 14 22 6 10 7 15 3 17 4 17 2 8 4 11 4 6 1 2 0 4
EXINY = 5TH 2 21 7 12 7 10 6 12 5 8 1 7 3 7 0 5 3 6 1 3
ENY= 6TH 6 12 9 10 5 16 5 14 6 5 1 4 3 8 2 2 1 6 0 3
m/IhNE 1TH 13 16 9 18 6 16 4 16 5 5 5 9 3 7 3 7 1 6 0 10
NG 2TH 5 6 5 3 6 3 0 3 1 6 1 6 0 3 0 8 1 1 0 3
NG 3TH 17 24 12 15 8 16 4 13 10 13 4 13 9 12 2 12 3 6 7 6
NG 4TH 7 14 4 18 7 17 4 6 7 11 1 2 1 5 1 2 1 5 2 0
m/IhNE 5TH 2 10 4 9 0 12 2 6 4 11 2 9 4 4 0 6 2 0 2 3
mE/INE 1TH 5 14 7 6 1 3 2 6 2 5 2 2 0 1 0 3 0 2 1 1
mE/NhNE 2TH 15 17 17 14 5 16 7 9 7 9 5 7 1 10 1 9 1 2 2 2
m/NhNE 3TH 9 11 5 8 4 12 3 6 3 12 10 6 2 5 1 11 1 7 1 6
mE/hNE ATH 8 23 6 10 9 11 3 12 7 13 0 7 1 6 1 0 0 4 0 2
mE/NhNE 5TH 9 22 4 11 6 12 4 10 9 14 1 6 4 10 3 11 2 10 2 1
mE/hNE 6TH 16 16 8 14 12 12 2 17 4 17 1 9 2 12 1 8 2 4 2 6
m/hNE 7TH 16 19 13 20 9 17 9 11 5 13 3 7 2 5 2 4 1 7 2 2
m/hNE 8TH 3 17 3 13 8 13 2 5 3 8 7 3 0 5 0 4 1 3 1 4
d/hE 1TH 3 8 7 3 1 4 2 8 1 2 3 2 0 2 0 3 1 2 2 1
d/hE 2TH 9 21 7 17 6 15 7 7 9 14 6 14 2 11 3 7 0 1 2 4
d/hE 3TH 5 8 7 9 2 2 4 6 4 4 1 3 1 1 3 2 0 3 1 4
d/hE ATH 15 16 5 12 7 13 8 10 5 10 2 9 4 7 0 6 2 4 0 5
d/hE 5TH 3 13 5 1 4 8 5 9 4 12 3 4 1 9 0 6 3 7 0 5
d/hE 6TH 10 14 7 14 9 14 5 15 4 11 5 8 4 5 1 3 2 5 1 6
d/hE 7TH 7 16 5 11 10 12 3 11 3 7 5 14 2 4 0 6 2 3 0 3
dt/ha 8TH 10 13 3 12 7 12 2 8 7 12 1 4 5 8 0 3 0 1 0 1
&5 230 402 184 315 156 294 111 259 128 256 76 190 64 175 35 145 34 107 35 89
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SH3FIA1H
R 1067 1075% 1085% 1097% 110%% 1115 125% 1135% 1145% e &5
5 = L = g8 = g8 % L ©

HING 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2053 2045
H/NE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 833 815
H/IMNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,402 12344
XN = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,697 1,820
HINE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,848 1,900
H/IMNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1609| 1,639
m/IhNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2721 2704
LN = 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,110 1,064
m/IhNE 3TH 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0| 2563 2660
N = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1625, 1,620
m/IhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1939 1,885
m/hNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,086 1,070
mE/NhNE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1660| 1,775
m/NhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,741 1,639
mE/hNE ATH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1623| 1,619
mE/NhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1945 1,864
mE/hNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2000| 1,998
m/hNE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2787 | 2762
m/hNE 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o 1817 | 1,752
d/hE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,106 | 1,150
d/hE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2635 2711
d/hE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,298 | 1,240
d/hE 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2324 2176
d/hE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1518| 1513
d/hE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2349 | 2253
d/hE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,625| 1,635
dt/ha 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 1816 | 1,892
&5 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 | 48,730 | 48,545
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